
Localização Materia Descrição  Total Stock BUn

KC5-E12 10007 Cable end sleeve  1,5mm²,  8mm, BK, N 1.497 PC

KC5-E5 10011 Cable end sleeve iso. TWIN 2x0,5 N white 400 PC

KC5-E6 10137 cable H05V- K,   0,75mm²  blue, Rg100 100 M

KC5-E6 10141 Cable, H07V-K, 95mm², green/yellow 45 M

KC5-E1 10172 Cable, NYM-J, 5x 1,5mm², reel à 100m 74 M

KC5-E1 10488 65E-plug, 5x32A, 400V 49 PC

KC5-E6 11008 Nut M8 ISO4035 A2 1684 PC

KC5-E3 11009 Nut M 8 ISO4032 A2 2.582 PC

KC5-E4 11014 Nut M 8, ISO10511-N-8-gZn 15.983 PC

KC5-E1 11015 Nut M10 ISO4032 A2 5.500 PC

KC5-E1 11017 Nut M10 ISO4032 8 tZn 6 PC

KC5-E1 11021 Nut M10, ISO10511-N-8-gZn 39 PC

KC5-E1 11027 Nut M12 ISO7040 8 gZn, self locking 1700 PC

KC5-E4 11063 drilling screw, 3,9x19-DIN 7504-gZn 2.000 PC

KC5-E3 11072 Cheese head screw M4x16-ISO1207-8.8-gZn 24.160 PC

KC5-E3 11086 Hexagon bolt, M 6x 20-ISO4017-8.8-gZn 10.989 PC

KC5-E2 11088 Countersunk screw,M 6x 20-ISO2009-4.8gZn 3494 PC

KC5-E1 11121 Hexagon bolt, M 8x 60-ISO4017-8.8-gZn 43 PC

KC5-E5 11129 Hexagon bolt, M10x 30-ISO4017-A2 740 PC

KC5-E3 11137 Hexagon bolt, M10x 40-ISO4017-A2 94 PC

KC5-E2 11161 Hexagon bolt, M12x 70-ISO4017-A2 148 PC

KC5-E3 11288 Washer 10-ISO7089-A2 1660 PC

KC5-E5 11290 Washer 10-ISO7093-A2 1.200 PC

KC5-E4 11291 Washer, 10-ISO7093-tZn 3453 PC

KC5-E5 11293 Washer 12-ISO7089-A2 4.574 PC

KC5-E4 11298 Washer 12-ISO7093-A4 1.986 PC

KC5-E6 11300 Washer 12-ISO7093-tZn 1.314 PC

KC5-E1 11319 Washer  24-ISO7089-tZn 246 PC

KC5-E4 11337 Washer  5-ISO7089-gZn 20.616 PC

KC5-E6 11341 Washer   6-ISO7089-A2 2.000 PC

KC5-E6 11342 Washer  6-ISO7093-A2 12.606 PC

KC5-E4 11541 cup brush 65mm M14 for angle grinder 108 PC

KC5-E4 11545 serrated grinding wheel 125mm, granul.80 859 PC

KC5-E6 11765 Cylinder head bolt,M4x10-ISO1207-8.8-gZn 5.010 PC

KC5-E4 11800 aluminium pop rivet 5x10 flat-head 5.830 PC

KC5-E3 14196 Hexagon bolt, M20x 30-ISO4017-8.8-tZn 144 PC

KC5-E3 14387 HH bolt, M16x130-ISO4014-8.8-tZn 400 PC

KC5-E3 14451 HH bolt, M16x 65, ISO4014,8.8,verz 100 PC

KC5-E3 14462 Hexagon bolt, M20x 50-ISO4017-10.9 145 PC

KC5-E6 14864 cable binding 1095x8,8 black T150X L-OHS 231 PC

KC5-E1 15049 Carriage bolt,M12x 45-DIN 603-A4 35 PC

KC5-E7 15473 Cable lug, tube, 120mm², M12, DIN46235 1.417 PC

KC5-E5 15474 Cable lug, tube, 120mm² M16, DIN46235 100 PC

KC5-E7 15478 Cable lug, tube,  240mm²  M12, DIN46235 342 PC

KC5-E1 15514 Shrink hose Cellpack 3,2-1,6 black 1 ROL

KC5-E4 15628 drilling screw, 4,2x19-DIN 7504-gZn 4600 PC

KC5-E2 15724 Nut, cap-, M 8, DIN1587-A2 2833 PC

KC5-E2 15745 Locknut, 116 M16 OBO 150 PC

KC5-E2 15747 Locknut, 116 M32 OBO 301 PC

KC5-E4 15969 rubber seal 20x2mm, SK 10 m, black, EPDM 9 ROL

KC5-E6 16201 Hexagon screw M 8x 65-ISO4014-A2 8 PC

KC5-E6 16546 Indicator hold: generator Winergy,MD/MM 22 PC

KC5-E2 17012 Hexagon bolt, M12x 20-ISO4017-8.8-tZn 1000 PC

KC5-E5 17310 cable marker "2", type Partex 7.400 PC

KC5-E5 17313 cable marker "4", type Partex 8200 PC

KC5-E5 17314 cable marker "5", type Partex 9.000 PC

KC5-E5 17319 cable marker "0", type Partex 6400 PC

KC5-E4 17444 cable tie, soft, SRT880-28, black 503 PC

KC5-E6 17562 locking screw M16x1,5 LGR , plastics 513 PC

KC5-E6 17761 Washer, medium 4x10,2x1,spring steel-zn 663 PC

KC5-E4 17868 Hexagon bolt, M 6x 12-ISO4017-8.8-gZn 1.617 PC

KC5-E4 18026 clamp, Caddy 4H24CTBW   170180 1956 PC

KC5-E5 18231 Hexagon bolt, M 8x 50-ISO4017-8.8,tZn 3.945 PC

KC5-E4 18310 Chain 6x42mm, gZn, DIN5685-C 60 M

KC5-E2 18424 O-Ring    6,0 x 5,0 NBR 70 80 PC

KC5-E5 18660 Washer 12-ISO7089-polyamid 200 PC

KC5-E1 19121 Ground wire, 16qmm, 8/ 8, 200mm, type4 907 PC



KC5-E1 19271 Hexagon bolt, EN 14399-4-M24x210-HV-tZn 90 PC

KC5-E7 19345 flexible tube D=13 ROHRFLEX-PA 800 M

KC5-E5 19665 Closing plug, EP320/15.0-B23 nat 26512 PC

KC5-E3 19716 clip Caddy EM912 P4 353 PC

KC5-E1 21301 Warning signs tub. tower, ETS, GB, MD/MM 29 SAT

KC5-E3 21425 Nut M 5 ISO7040 A2, self locking 3.676 PC

KC5-E3 21521 HH bolt, M10x 70-ISO4014-8.8-tZn 158 PC

KC5-E2 22794 Washer  16-ISO7089-tZn-300HV 976 PC

KC5-E3 23195 Hexagon bolt, M12x 35-ISO4017-A2 40 PC

KC5-E3 23253 clamp, Caddy 4H24I   #170150 242 PC

KC5-E3 24065 Countersunk screw,M 4x 25-ISO10642-A2 95 PC

KC5-E3 24086 cont.plug set f.cable set gear box opt. 28 PC

KC5-E3 24412 split pin  4x 30 ISO8752 spring steel 420 PC

KC5-E1 24777 Holder generator rpm, for CMS 20 PC

KC5-E1 24778 Holder for cabinet of CMS (SKF) 57 PC

KC5-E6 25432 Washer,  8-ISO7094-R-tZn 960 PC

KC5-E6 25731 Part of the cable duct DW34 817 PC

KC5-E6 26278 Hexagon bolt, M10x 20-ISO4017-A4 234 PC

KC5-E1 26452 screw 4,0x25mm OBO 4758 1.910 PC

KC5-E2 26547 socket screw, M 6x 16-ISO4762-A4 1.000 PC

KC5-E6 28751 Duplex patch cable, SC-SC 9/125, 5m 10 PC

KC5-E6 28971 Micro switch TN/80170H0236 f. sc-fuse 2 PC

KC5-E2 29187 MM3-1FXM2/3TX1,MICE-Swi.,media modul,CCV 6 PC

KC5-E2 29220 Cable binding, 530/8.9,T150M-PA66-nature 5.700 PC

KC5-E3 30189 edge protection MD/MM 63 PC

KC5-E3 30239 shrink hose TCN20-12,7/6,4-BK 189 M

KC5-E1 30508 Cable, ÖLFLEX CLASSIK, W4.F5S5-W1,ComBox 1 PC

KC5-E5 31140 Nut M 8, ISO10511-A4 1.420 PC

KC5-E1 32167 Socket head screw, M 8x 60-ISO4762-A2 200 PC

KC5-E1 32858 Pt100 Air-Temperature Sensor 7134/7135 4 PC

KC5-E1 34558 Hub loading cable MM 6 PC

KC5-E1 35634 counter nut, M16x1,5 Typ GMM 216/7 PA 85 PC

KC5-E2 35881 Sleeve Klauke AEH 0,34 Hellgn.168/6 500 PC

KC5-E3 36450 Washer 10-ISO7089-A4 2686 PC

KC5-E5 37207 abrasive paper 150mm granulation 100 500 PC

KC5-E3 37841 Compact connector, WAGO, 5-conductor 1.844 PC

KC5-E3 38246 Washer  16-ISO7089-A4 1850 PC

KC5-E2 38328 Adaptation particle counter 4 PC

KC5-E4 39315 Hexagon bolt, M10x 16-ISO4017-A2 1402 PC

KC5-E1 39316 Threaded pin M 8x 45 ISO4026 gZn 1532 PC

KC5-E6 42581 Sealing wire 1599 M

KC5-E4 43540 O-Ring, SAE, 1 Polyurethan 93 shore 9 PC

KC5-E5 43629 Hexagon bolt, M12x 70-ISO4017-A4 910 PC

KC5-E5 47300 Reduction 107 R M40/M25 OBO 100 PC

KC5-E3 47766 Shrinkable sleeve TF31-18,0/6,0 green-ye 65,5 M

KC5-E5 48659 Protection,overvoltage,ADSL,DT-TELE-RJ45 3 PC

KC5-E1 50112 POWER/CONTROL CABLE H05V-K, 1mm² RD 3 PC

KC5-E2 50609 Honingtool für boreholes d=35MM 186 PC

KC5-E2 50683 Cable, W7_PA, GNYE, 6 mm² 115 M

KC5-E5 51148 Cable end sleeve 16,0mm², 18mm, BU, L 700 PC

KC5-E4 52129 Detent edged washer, M4x10,2x1-A4 4.500 PC

KC5-E4 54723 Socket head screw, M 5x 90-ISO4762-A4-70 400 PC

KC5-E3 65260 cable gland OBO V-TEC VM LM25 LGR 199 PC


